50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Semester B.E. Degree Examlnatlgn Jan./Feb. 2021
Analysis of Determmate:‘Structures

Max. Marks: 80

1

Flg Ql(a) - 111) (08 Marks)

(08 Marks)

Fig Q2 ‘ (16 Marks)

. Module-2
3 a. Determine maxm%um slope and maximum deflection for a simply supported beam subjected

toa umformly distributed load (throughout its span) using Double Integration method.
(06 Marks)
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A suspension cable 140m span and 14m central sag ies a load of 1kN/m. calculate
maximum and minimum tension in the cable. Find length of the cable. (04 Marks)

A three hinged stiffening girder of a suspens1on bndge of span 100m.is subjected to two
concentrated loads of 10kN each, placed at"20m and 40m respecflvely from the left end
support. Determine bending moment and’shear force at 30m from- ?ﬁhe left support. Also
determine the maximum and mmlmum tensions in the supportmg ‘cable which has a central
dip of 10m. : (16 Marks)

A simply supported bea’ 4as a span of 15m. A, uhlf mly distributed load of 40 kN/m of

length 5m passes over the ‘beam from left to rlght Usmg influence line diagram determine
maximum bending; movement at a section 6m from the left end. (04 Marks)
Four point loads, 16, 30, 30 and 20kN have.a centre to centre spacing of 2m between
consecutive load .and pass over a girder’ of 30m span from left to right with 20kN load
leadmg Cal thate maximum bending moment and shear force at 8m from the left end, using

" (12 Marks)

; 3} ) 4 A‘
Deterrmne maximum forces In the membersv CE, DE and DF of the truss shown in
Fig* Q10(b) due to the dgad Toad of 10 kN/m ‘covering the entire span and a moving load of

S

b.
8
9 a
b.
10 a.
b.
r

&

@’
s

~-»<2‘§)kN/m longer thanx the span passing ‘over “the truss. Consider the loads are transmitted

0’ l‘_—"_‘ SOsm. ==t
X : =26m
Fig Q10(b) (08 Marks)

k %k %k %k ok
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